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Problem 1. For the following problem of heat flow, discretized using FEM, determine the right-hand
side vector of the obtained set of algebraic equations.
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Problem 2. Calculate the heat flux density vector q and temperature at point A(1.0,1.5) of the configu-
ration discretized using 1 finite element. The input data contain: dof vector θ, conductivity

matrix k and shape functions.
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Problem 3. The following panel is discretized with one three-noded FE. Determine the right-hand side
vector used in FEM computations.
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Problem 4. For the panel (plane stress problem) discretized with 4 finite elements determine the global
loading vector.
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Problem 5. Derive the shape functions for the triangular finite element.
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Problem 6. The following plane stress structure has been computed using FEM. For the plotted element
the solution vector is given. Compute the strain and the stress vectors at point A with

coordinates (1,1).
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